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PLEASE READ THE FOLLOWING INSTRUCTIONS CAREFULLY BEFORE ANSWERING THE
QUESTIONS.

e This question paper consists of 9 pages. Please check that your question paper is complete.

e Read and answer all questions carefully,

e |tisin your own interest to write legibly and to present your work neatly.

e Number your answers exactly as the questions are numbered.

e All necessary working which you have used in determining your answers must be clearly
shown,

 Approved non-programmable calculators may be used except where otherwise stated. Where
necessary give answers correct to 2 decimal places.

o Diagrams have not necessarily been drawn to scale.

 Alist of formulae have been provided on Page 1.

e ANSWER ALL QUESTIONS ON THE QUESTION PAPER,




SECTION A PAGE 2

QUESTION 1
Given the points A(2 37) and B(-8;-3)
1.1 Find the co-ordinates of the midpoint of 4B, A WP
2-2 , 1-3 )
Mi‘lpo\'nk = (/ 2 ) > = (“3’ ) 1)
] \ P i
2
. Determine the length of line AB, leaving answer in surd form.
Pa— 114
: %
AR = J(z—fs'} +(1+BT a4
. N
= 200 d
R. 1o J2
~ (3)
o
1.3 Find the gradient of 4B, Mz Y o y
My = 5 + 8 — e =1
(2)
1.4 Determine the equation of the line which is parallel to 4B, and which passes
through the point (1 ;-2). e laa —
Mm = | H = oC 4+ C
-2 = 1 4+ c ™ Sub ([)-2)
v’
c = -3
U= %2-3
B v )
1.5 Find the value of £ if the points 4, B and D(6; k) are collinear. ( lie on the same
straight line. ) |a
\/ - i
Myg = | M IA = "6-2
5. Bl I
i W & |
K-1 =4 =1 v

— 4
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QUESTION 2

Refer to the figure. R(-1;1), §(5;3) and W(7;-5) are points in the Cartesian plane.
RT =TW and TSP = 8.

A
¥ 5(5:3)
4]
R(—1;1)<
. 0 L,
O P X
¥
W(7;-5)

2.1  Show that the co-ordinates of T are (3:-2).

T(:———--—-if-g ' ‘—f) = (33*2)

)
W
2)
2.2 Find the equation of the line ST
g+2 .
Mgy = -3 - 2
3y =¥wyew
_ £ v - _ £ - A
"E(S‘)"fc c = 3 - e R
(3)
2.3 Determine whether or not RS = 90°. Explain
3—1  _ -
Mas = g+ - 3 v d
ABES . o
Msw_ F "g-q = —k%
-:- mks * MSW %ﬂi st #‘ qo

‘/comt- 4)
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QUESTION 2 conid

2.4 Find the size of @, the inclination of ST, cle
5 - =
Mee = F tan & = 3

@
25 Hence, calculate the value of B. ( T Sp )

W\SW s
"tan ‘:‘;t = "'Ll’ i /a\“’
f;‘ = w%ne%a v ﬁ = (04 ol _V.bz,:z"
B = 353+
L “
2.6 Calculate the co-ordinates of apoint D(x; y), if RSWD is a parallelogram. —_—
s 342 = -» B
\/;m «4+S = b y+43 = -4
* = | gy = -1
D (’@ . _7) (bmes or PARm R\secr)
@ “4)
QUESTION 3

Given the points C(-11;-4), D(-5;3) and E(1; k).
Calculate the value(s) of k if DE = 3CD.
a, 2
E = 4¢P
5 Fad A
\/W‘ 2 a Vv 2 - v
(i3 < (e85 S 2 (o9« (oY)

3 + Kk -6k +9 = 165

K- 6K -2 = o
6
U (kea(x - 30) = o ©
Wi _ TOTAL SECTION A _4@
Oguﬁb K =-2% o k=30

fogm. — ‘/
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SECTION B
QUESTION 4
Giving reasons, find the value of x in each of the following, where O is circle centre :
——
4.1 =
C
D
# v
¢ r e cuM'F'
X = 5| L ot cenbre x2 L 4a
N
2)
4.2
C
E
D
A > 4 5 )
- ’ . iC. SO
= qp (/ L i Sem /"e“

€))
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Question 4 contd

4.3

Jl v
3x + \%‘ 4+ bx -8 = \So' (o?? Ls cﬁc\\i aped)
te = 1go
X = 20 v’

“)
4.4 TR is atangent and QWR = 50°,

w

v v
- y ™ cho A ‘H‘\
e 20 (’h\ 4. hor } P
.. Qow = \06”/\(’- st centre 2 L ot ciceumf)

2x = 80 ‘/(éUm Ls b 1808 A\)
~

°

x = ko "

(4)
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QUESTION 5

In the figure below, O is the centre of the circle. RT = 7S = dem and YT = lem.

Find the length of the radius of the circle.

\_ct 0 = = Ctao“\W) 0?5 = a8 (ﬂ\'\ﬂ\"t c}-."[’h)
> 0T = x — | \/
In o5 o1s 0S = 0T + TS5 (Pat\na&)
2
< = (0‘»—\) v b v o

(6)
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QUESTION 6

In the diagram, O is the centre of the circle and 5’1 =y

6.1  Name, with reasons, three other angles each equal to y . S

ﬂ_ﬂ & =y /(Ls in Same Sfij“‘)

\
A ) T
Ty =y ‘/(1-5“5 A Fatéﬂ)

?" =y /?gsos A 3 f‘ati'\i> v’

(6)
6.2 If y =44°, determine, with reasons, the size of the following angles:
(a) R A .
Ty = 4y = 4% v
. R = 7 - )
o R = 13b v Lotp &5 gyl cju-\
(3)

RS

(b) %
&j/( L & cemtre %2 L at c:m.um?)

O
1l

50, = 838

=7

€y



QUESTION 7

In the figure below, BW // AC, AB = BT and AT = AC.

DCW is a tangent to the circle at C and BTW is a straight line.

7l

T2

3

W

~

If C, = x, name three other angles each equal to x . ( reasons not required )

PAGE 9

PN N

Express ABT in terms of x.
clov

A%'S = W -x v v

3)

~

If C'3 =k, give, with reasons, two other angles each equal to k .

“m———

. v’
{Au [ 4 C %a\nﬂ th "C\ﬁ>

i

@)

T, = K/(a\\: Ls =/Ac-Hen)

4)

A 1]
- tsos &
oh A, =K ( ) TOTAL SECTIONB : 40




